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\1 means that the 5th character should
. adot stands be the same as the 1st character

for any character \2 means that the 4th
character should be the
same as the 2nd character

Characters within regular expressions can be labelled by enclosing them in brackets. More than one
character can be enclosed. Numbers are assigned automatically: 1 to the 1st bracket, 2 to the 2nd
bracket etc. Back references to the brackets can be made using a backslash and the number.

The example above will find words which read forwards and backwards the same.

Here are some stats from the week from the tournament

lakes can also be monitored by satellite radar altimeters , helping governments better

tiny flying device is really a working single rotor drone, capable of flying on autopilot at

to connecting with it than a raft or kayak safari through it . With the sandy shores

Is exactly the same as it stands Madam Chairman . Right, thank you very much

primarily an ornithologist , most of these quotations refer to birds , but there are passing descriptive botanical
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